

STRONGLY REVERSIBLE RINGS RELATIVE TO MONOID

Amit Bhooshan Singh^{1 §}, Prachi Juyal², M.R. Khan³

^{1,2,3}Department of Mathematics

Faculty of Natural Sciences

Jamia Millia Islamia (Central University)

Delhi, 110025, INDIA

¹e-mail: amit.bhooshan84@gmail.com

²e-mail: prachijuyal@yahoo.com

³e-mail: rais.mt@jmi.ac.in

Abstract: For a monoid M , we introduce strongly M -reversible rings, which are generalization of strongly reversible rings, and we investigate their properties. We show that if G be a finitely generated Abelian group, then G is torsionfree if and only if there exists a ring R with $|R| \geq 2$ such that R is strongly M -reversible. We also show that if R is right or ring with right classical quotient ring Q , then R is strongly M -reversible iff Q is strongly M -reversible.

AMS Subject Classification: 16N60, 16P60, 16U99, 16S15

Key Words: unique product monoid, strongly reversible, strongly M -reversible

1. Introduction

Throughout this article, R and M denote an associative ring with identity and a monoid, respectively. In [5], Cohn introduced the notion of reversible ring. A ring R is said to be reversible, whenever $a, b \in R$ satisfy $ab = 0$ then $ba = 0$. Anderson and Camillo [2] used the term of ZC_2 for what is called reversible. A ring R is called symmetric, whenever $abc = 0$ implies $acb = 0$ for all $a, b, c \in R$. A ring R is called reduced, whenever $a^2 = 0$ implies $a = 0$ for all $a \in R$. A ring R is called semicommutative, whenever $ab = 0$ implies $aRb = 0$ for all $a, b \in R$.

Received: March 7, 2010

© 2010 Academic Publications

[§]Correspondence author

The following implication holds:

reduced (resp. commutative) \Rightarrow symmetric \Rightarrow reversible \Rightarrow semicommutative.

In [8], Kim and Lee showed that polynomial rings over reversible rings need not be reversible. In [16], Yang and Liu introduced the notation of strongly reversible. A ring R is called strongly reversible, whenever polynomials $f(x), g(x) \in R[x]$ satisfy $f(x)g(x) = 0$ implies $g(x)f(x) = 0$. All reduced rings are strongly reversible but converse is not true.

Rage and Chhawchharia [15], introduced the notion of an Armendariz ring. A ring R is called Armendariz, whenever polynomials $f(x) = a_0 + a_1x + a_2x^2 + \dots + a_nx^n, g(x) = b_0 + b_1x + b_2x^2 + \dots + b_mx^m \in R[x]$ satisfy $f(x)g(x) = 0$ then $a_ib_j = 0$ for all i, j . In [10], Z. Liu studied a generalization of Armendariz rings, which is called M -Armendariz rings, where M is monoid. A ring R is called M -Armendariz, whenever $\alpha = a_1g_1 + a_2g_2 + \dots + a_ng_n, \beta = b_1h_1 + b_2h_2 + \dots + b_mh_m \in R[M]$, with $g_i, h_j \in M$ satisfy $\alpha\beta = 0$, then $a_ib_j = 0$, for all i, j . In this paper, we introduce strongly M -reversible. A ring R is called strongly M -reversible, whenever $\alpha\beta = 0$ implies $\beta\alpha = 0$, where $\alpha, \beta \in R[M]$. Let $M = (N \cup \{0\}, +)$. Then a ring R is strongly M -reversible if and only if R is strongly reversible.

Recall that a monoid M is called a u.p. monoid (unique product monoid) if for any two nonempty finite subsets $A, B \subseteq M$ there exists an element $g \in M$ uniquely in the form ab where $a \in A$ and $b \in B$. The class of u.p. monoid is quite large and important (see [4, 13, 14]). For example, this class includes the right or left ordered monoids, submonoids of a free group, and torsion-free nilpotent groups. Every u.p. monoid M has no nonunity element of finite order.

Motivated by the results of Z. Liu [10], G. Yang and Z.K. Liu [16], we investigate a generalization of strongly reversible rings which we call strongly M -reversible rings.

2. Main Results

Lemma 1. *Let M be u.p. monoid and R a reduced, then $R[M]$ is reduced.*

Proof. Suppose $\alpha = a_1g_1 + a_2g_2 + a_3g_3 + \dots + a_ng_n$ in $R[M]$, where $a_i \in R, g_i \in M$ for all i , such that $\alpha^2 = 0$. Since R is reduced so by [10, Proposition 1.1] R is M -Armendariz. Thus $a_ia_j = 0$ for all $1 \leq i, j \leq n$. In particular $a_i^2 = 0$ for all $1 \leq i \leq n$. Since R is reduced so $a_i = 0$ for all $1 \leq i \leq n$. Hence $R[M]$ is reduced. \square

Proposition 1. *Let M be u.p. monoid and R a reduced. Then R is strongly M -reversible.*

Proof. Suppose $\alpha = \sum_{i=1}^n a_i g_i$, $\beta = \sum_{j=1}^m b_j h_j$ are in $R[M]$ with $a_i, b_j \in R$ and $g_i, h_j \in M$ for all i, j . Take $\alpha\beta = 0$. So $(\beta\alpha)^2 = (\beta\alpha)(\beta\alpha) = \beta(\alpha\beta)\alpha = 0$. Since R is reduced and Lemma 1, thus $\beta\alpha = 0$. Hence R is strongly M -reversible ring. \square

Lemma 2. *Subrings and direct products of strongly M -reversible ring are strongly M -reversible.*

Proposition 2. *Let M be a commutative, cancelative monoid and N and ideal of M . If R is strongly N -reversible ring, then R is strongly M -reversible ring.*

Proof. Suppose that $\alpha = a_1 g_1 + a_2 g_2 + \dots + a_n g_n$, $\beta = b_1 h_1 + b_2 h_2 + \dots + b_m h_m$ are in $R[M]$ such that $\alpha\beta = 0$. Take $g \in N$. Then $gg_1, gg_2, \dots, gg_n, h_1 g, h_2 g, \dots, h_m g \in N$ and $gg_i \neq gg_j$ and $h_i g \neq h_j g$ for all $i \neq j$. So

$$\alpha_1 \beta_1 = \left(\sum_{i=1}^n a_i g g_i \right) \left(\sum_{j=1}^m b_j h_j g \right) = 0.$$

Since R is strongly N -reversible so $\beta_1 \alpha_1 = 0$. Thus $\beta\alpha = 0$. Therefore R is strongly M -reversible. \square

Lemma 3. *Let M be a cyclic group of order $n \geq 2$ and R a ring with unity. Then R is not strongly M -reversible.*

Proof. Suppose that $M = \{e, g, g^2, \dots, g^{n-1}\}$. Let $\alpha = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} e + \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} g + \dots + \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} g^{n-1}$ and $\beta = \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix} e + \begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix} g \in R[M]$. Then $\alpha\beta = 0$. But $\begin{pmatrix} 0 & 0 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} \neq 0$, so $\beta\alpha \neq 0$. Thus R is not strongly M -reversible. \square

Lemma 4. *Let M be a monoid and N a submonoid of M . If R is strongly M -reversible ring, then R is strongly N -reversible.*

Lemma 5. *Let M and N be u.p. monoids. Then so is a monoid $M \times N$.*

Proof. See [10, Lemma 1.13]. \square

Let $T(G)$ be set of elements of finite order in an Abelian group G . Then $T(G)$ is fully invariant subgroup of G . G is said to be torsion-free if $T(G) = \{e\}$.

Theorem 1. *Let G be a finitely generated Abelian group. Then the following conditions on G are equivalent:*

- (i) G is torsion-free.
- (ii) There exists a ring R with $|R| \geq 2$ such that R is strongly G -reversible.

Proof. (2) \Rightarrow (1) If $g \in T(G)$ and $g \neq e$, then $N = \langle g \rangle$ is cyclic group of finite order. If a ring $R \neq \{0\}$ is strongly M -reversible. Then by Lemma 4 R is strongly N -reversible, a contradiction with Lemma 3. Thus every ring $R \neq \{0\}$ is not strongly M -reversible. \square

(1) \Rightarrow (2) Let G be a finitely generated Abelian group with $T(G) = \{e\}$. Then $G = \mathbb{Z} \times \mathbb{Z} \times \dots \times \mathbb{Z}$ a finite direct product of group \mathbb{Z} . By Lemma 5 G is u.p. monoid. Let R be a commutative reduced ring. Then by Proposition 1, R is strongly G -reversible.

Example 1. (see [16], Example 3.7) Let S be a division ring and $R = \left\{ \begin{pmatrix} a & b & c \\ 0 & a & d \\ 0 & 0 & a \end{pmatrix} \mid a, b, c, d \in S \right\}$. Then R is not strongly M -reversible, since it is

not reversible. Let M be a monoid with $|M| \geq 2$. Take an ideal $I = \begin{pmatrix} 0 & 0 & S \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$,

which is strongly M -reversible non-zero proper ideal of R . Take

$$\alpha = \sum_{i=1}^n \begin{pmatrix} a_i & b_j & 0 \\ 0 & a_i & c_i \\ 0 & 0 & a_i \end{pmatrix} g_i, \quad \beta = \sum_{j=1}^m \begin{pmatrix} u_j & v_j & 0 \\ 0 & u_j & w_j \\ 0 & 0 & u_j \end{pmatrix} h_j$$

are in $R/I[M]$ satisfying $\alpha\beta = 0$. Then we have that

$$\begin{pmatrix} \Sigma a_i g_i & \Sigma b_j g_i & 0 \\ 0 & \Sigma a_i g_i & \Sigma c_i g_i \\ 0 & 0 & \Sigma a_i g_i \end{pmatrix} \begin{pmatrix} \Sigma u_j h_j & \Sigma v_j h_j & 0 \\ 0 & \Sigma u_j h_j & \Sigma w_j h_j \\ 0 & 0 & \Sigma u_j h_j \end{pmatrix} = 0$$

which implies $\sum_{i=1}^n a_i g_i \sum_{j=1}^m u_j h_j = 0$, hence $\sum_{i=1}^n a_i g_i = 0$ or $\sum_{j=1}^m u_j h_j = 0$ since S is a division ring, and it is easy to prove that $\beta\alpha = 0$. There by we get that for any strongly M -reversible nonzero proper ideal I of R , R/I is strongly M -reversible.

Proposition 3. *Suppose that R/I is strongly M -reversible for some ideal I of a ring R . If I is reduced, then R is strongly M -reversible.*

Proof. Suppose that $\alpha = \sum_{i=1}^n a_i g_i, \beta = \sum_{j=1}^m b_j h_j$ are in $R[M]$ such that

$\alpha\beta = 0$, then we have $\beta\alpha \in I[M]$. Hence $(\beta\alpha)^2 = (\beta\alpha)(\beta\alpha) = \beta(\alpha\beta)\alpha = 0$ implies $\beta\alpha = 0$ since $I[M]$ is reduced, therefore R is strongly M -reversible ring. \square

In [6], a right classical quotient ring for a ring R is a right ring of fractions for R with respect to the set of all regular elements in R ; the classical left quotient ring is defined symmetrically. The situation when R has a classical right quotient ring Q is also denoted by saying that ‘ R is right order in Q ’. A ring R is called right ore if for each $x, y \in R$ with y regular there exists $r, s \in R$ with r is regular such that $xr = ys$. By [6, Theorem 6.2] R has right quotient ring iff the set of regular elements in R is a right ore set.

Theorem 2. *Let M be a monoid and R a right ore ring with classical right quotient ring Q of a ring R . The ring R is strongly M -reversible if and only if Q is strongly M -reversible.*

Proof. Suppose $\alpha = \sum_{i=1}^n a_i g_i$, $\beta = \sum_{j=1}^m b_j h_j$ are in $Q[M]$ such that $\alpha\beta = 0$, where $a_i, b_j \in R$ and $g_i, h_j \in M$ for all i, j . Since R is right ore ring with right classical quotient ring Q , by [12, Proposition 2.1.16], we assume that $a_i = p_i u^{-1}$, $b_j = q_j v^{-1}$ with $p_i, q_j \in R$ for all i, j and regular elements $u, v \in R$. Also by [12, Proposition 2.1.16], for each j , there exists $c_j \in R$ and regular element $s \in R$ such that $u^{-1}q_j = c_j s^{-1}$. Put $\alpha_1 = \sum_{i=1}^n p_i q_i$, $\beta_1 = \sum_{j=1}^m q_j h_j$,

$\beta_2 = \sum_{j=1}^m c_j h_j$, then we have that

$$\begin{aligned} 0 = \alpha\beta &= \left(\sum_{i=1}^n a_i g_i \right) \left(\sum_{j=1}^m b_j h_j \right) = \left(\sum_{i=1}^n p_i u^{-1} g_i \right) \left(\sum_{j=1}^m q_j v^{-1} h_j \right) \\ &= \left(\sum_{i=1}^n p_i g_i \right) \left(\sum_{j=1}^m (u^{-1} q_j) v^{-1} h_j \right) = \left(\sum_{i=1}^n p_i g_i \right) \left(\sum_{j=1}^m c_j h_j \right) (vs)^{-1} \\ &= \alpha_1 \beta_2 (vs)^{-1}. \end{aligned}$$

Hence $\alpha_1 \beta_2 = 0$, consequently $\alpha_1 \beta_1 = 0$ in $R[M]$. Again by [12, Proposition 2.1.16], for each i there exist $d_i \in R$ and regular element $t \in R$ such that $v^{-1}p_i = d_i t^{-1}$. Put $\alpha_2 = \sum_{i=1}^n d_i g_i \in R[M]$, then we have

$$0 = \alpha_1 t \beta_1 = \left(\sum_{i=1}^n p_i g_i \right) t \left(\sum_{j=1}^m q_j h_j \right) = \left(\sum_{i=1}^n (p_i t) g_i \right) \left(\sum_{j=1}^m q_j h_j \right)$$

$$= \left(\sum_{i=1}^n (vd_i)g_i \right) \left(\sum_{j=1}^m q_j h_j \right) = v\alpha_2\beta_1,$$

thus $\alpha_2\beta_1 = 0$ in $R[M]$. Since R is strongly M -reversible so $\beta_1\alpha_2 = 0$. Now we have that

$$\begin{aligned} \beta\alpha &= \left(\sum_{i=1}^m b_j h_j \right) \left(\sum_{i=1}^n a_i g_i \right) = \left(\sum_{j=1}^m q_j v^{-1} h_j \right) \left(\sum_{i=1}^n p_i u^{-1} g_i \right) \\ &= \left(\sum_{j=1}^m q_j h_j \right) \left(\sum_{i=1}^n v^{-1} p_i u^{-1} g_i \right) = \left(\sum_{j=1}^m q_j h_j \right) \left(\sum_{i=1}^n d_i g_i \right) (uv)^{-1} \\ &= \beta_1 \alpha_2 (uv)^{-1} = 0. \end{aligned}$$

Thus Q is strongly M -reversible.

Conversely, suppose Q is strongly M -reversible then by Lemma 2 R is strongly M -reversible. \square

Acknowledgments

The authors thank Professor V.N. Dixit for contribution and we acknowledge him for his support during the preparation of the manuscript.

References

- [1] D.D. Anderson, V. Camillo, Armendariz rings and Gaussian rings, *Comm. Algebra*, **26**, No. 7 (1978), 2265-2272.
- [2] D.D. Anderson, V. Camillo, Semigroups and rings whose zero products commute, *Comm. Algebra*, **27**, No. 6 (1999), 2847-2852.
- [3] E.P. Armendariz, A note on extensions of Baer and p.p. rings, *J. Austral. Math. Soc.*, **18** (1974), 470-473.
- [4] G.F. Birkenmeier, J.K. Park, Triangular matrix representations of ring extensions, *J. Algebra*, **265** (2003), 457-477.
- [5] P.M. Cohn, Reversible rings, *Bull. London Math. Soc.*, **31** (1999), 641-648.
- [6] K.R. Goodearl, R.B. Warfield Jr., *An Introduction to Non-Commutative Noetherian Rings*, 2-nd Edition, Cambridge University Press, Cambridge (2004).

- [7] C. Huh, Y. Lee, A. Smoktunowicz, Armendariz rings and semicommutative rings, *Comm. Algebra*, **30**, No. 2 (2002), 751-761.
- [8] N.K. Kim, Y. Lee, Extension of reversible rings, *J. Pure Appl. Algebra*, **185** (2003), 207-223.
- [9] N.K. Kim, Y. Lee, Armendariz rings and reduced rings, *J. Algebra*, **223** (2000), 477-488.
- [10] Z. Liu, Armendariz rings relative to monoid, *Comm. Algebra*, **33** (2005), 649-661.
- [11] G. Marks, Reversible rings and symmetric rings, *J. Pure Appl. Algebra*, **174** (2002), 311-318.
- [12] J.C. McConnell, J.C. Robson, *Noncommutative Noetherian Rings*, Wiley, New York (1987).
- [13] J. Okninski, *Semigroup Algebras*, New York, Marcel Dekker (1991).
- [14] D.S. Passman, *The Algebraic Structure of Group Rings*, John Wiley, New York (1977).
- [15] M.B. Rago, S. Chhawchharia, Armendariz rings, *Proc. Jpn. Acad. Ser. A Math. Sci.*, **73** (1997), 14-17.
- [16] G. Yang, Z.K. Liu, On strongly reversible rings, *Taiwanese J. Math.*, **12**, No. 1 (2008), 129-136.

